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1. What is the average number of male workforce
in all the sectors put together? (rounded-off to
two decimal places)

weft & & fuema yEw_sniae @t sioa

B D Tean T 57 (v & 9f atEt a )
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workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
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Employment Workforce of Indi rd
Sector [ mm—— W °
Percelgtage RJti of
L 7 Online Study
~ | Distribution | Female
~ (M:F)
Service (SE) ¥ 15% 3:2
Sales (SA) 12% 4
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% T
Management (MA) | 21% 3:4
Production and | 19% 5:3
Transport (PT)
Others (OT) 6% 3:5




Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
Wﬂrkfﬂlﬂ:E of India in different emplu}'ment sectors

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of

Distribution | Eerrrrie

/ A OLF
/| Service (SE) 15% Y L.zi'J
/ | Sales (SA) 12% vV |5:3
Construction and|| 9% 5:4
- Maintenance (M) /
Professional (PR) 18% 527
/ | Management (MA)|| 21% 3:4
Production and] | 19% 5:3
> Transport (PT)
Others (OT) 6% | 3:5

o
-

What is the ave umber of male workforce
in all the sectors put together? (rounded-off to
two decimal places)

addft g = faemet gew @rdEe &t siwe
dErE R (ImEa s A dwmi wm )
(a) 6.39 lakhs/6.39 &51E

(b) 4.69 lakhs /4.69 B1F

(c) 5.96 lakhs /5.96 &3

(d) 7.48 lakhs /7.48 @%@

= 6,00, 000 o

forgfor aff areor # =E[},I}D,l}l}l}x%x§= 4,00,000

SreEe & = 80,00, Uﬂﬂx%x%=ﬁ 00,000

Yeua &9 § = 8000 ﬂﬂﬂx%x%_? 20.000

I 3 giiEeT &9 7

= 80,00, 000 = E::-::E—'E-l 50,000
100 &

371 &9 # = 80,00, Dﬂﬂxix%—] 80.000
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FA TEY HETA

- 41,’?{],{]{]{]
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395714.28
————

TATAI 5.96 ©E




Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors

during a givenyegs, Total workforce in all the sectors
put together gs 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
I Percentage Ratio of
=) (%) Male  of
_// Distribution Female

/e~ 0
Service SE) ¥ (45%) 7~ |3
Sales (SA) 12% 523

The number ﬂ@male workforce in SD‘ nd PR
sectors put together is what percent of the

number of the male workforce in CM sector?

TH ¥ 3T Ot a1 st ° e nigenm edaer

W T WEET |t Un 49 W wEid Uy shee
@t g & fanaar ufae 27

(a) 330%

(b) 318%

(c) 320%

(d) 80% (/ _J_\SD @

N\ w2

4

Construction and(] 9%
Maintenance (M

Professional (PR) “] 18% /7~
Management (MA) | 21%

Production and | 19%
Transport (PT)

Others (OT) 6% 3:5
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( Direction : YQ.N. 1-5) : Consider the following
table s the percentage (%) distribution of

workforce of India and ratio of male to female
wurkfnrce of lndla in dlfferen Empl{r}'ment sectors
during a §i - orce in all the sectors
put tﬂrgeth ris Sﬂ lakhs. d on the data contained
in the table, € question :

Sector-wisd Distribution of Workforce of India

v

Employment Workforce of India

Sector

Percentage Ratio of

(%) Male of
Distribution

Female

Professional (PR v - B
Management (MA) | 21% J: 4
Production and | 19% 5:3
Transport (PT)

Others (OT) 6% 3:5

The number of female workforce in SE and PR
sectors put together is what percent of the

number of the male workforce in CM sector?

qgiaﬁttﬁmaﬁﬁﬁmmm
aﬁﬁmt&qﬂ@aﬁmwm

&t H&r &t t
(a) 330%\ /

(b) 318%

(c) 320%

(d) 80%

W

Ans. (a) : y

@ € S § afensi # dem | A

4
dt. w1 deet o ufgensd F g=n :\ —x—xﬂ{}ﬂ{]{]{]{]

9
row daex # T A Hem iﬁ”aﬂ”“m’m

= 400000

1320000

AE Wi = ——
400,000
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Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained

in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
epvice (SE) 15% :

(Siois) 7

Construction and

3:2
2% ~¢ |[3:3
9% © o |5:4

Maintenance (M)

Profession 18% 5:7
agement (MA) )21% &= A3:4

Production and | 19% 5:3

Transport (PT)

Others (OT) 6% 3:5

The number of male workforce i@ an‘

sectors put together is approximately
percent of the total number of workforce in PT

sector?
T U 3w U A i e e e
F &

W& &7 T fanaar i §2
(a) 82% (b) 87%
(c) 89% (d) 85%




Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% 322
Sales (SA) 12% 513
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% - B
Management (MA) | 21% J: 4
Production and | 19% 5:3
Transport (PT)
Others (OT) 6% 3:5

The number of male workforce in SA and MA
sectors put together is approximately what
percent of the total number of workforce in PT

sector?

THE U 37 m o HrETd g6 wHraae @l
& i | W wrdae @ e
T &0 ﬁmnrwﬁ'wmt? e

(a) 82% (b) 87% _— I'O

(c) 89% 9 d} 85% é\

\ A  r

mqaawﬁ/@gw =213 800000 = 720000
100 7

19
4t & geet | e FEEe = ﬁx{smm}l}l}@m )

e e = SO0

1520000
1320000 ‘P>

& x1 0 = 7%

= 00 (36.8% = 87% /




Direction

: (Q.N. 1-5) : Consider the following

table that shows the percentage (%) distribution of

workforce of India

and ratio of male to female

workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:
Service (SE) 15% "E?
Sales (SA @) l‘-“’
Construction and | 9% - B
Maintenance (M)
Professional (PR) 8% - B
Management (MAM 21% J: 4
Production and | 19% 5:3
Transport (PT) v
Others (OT) 6% 3:5

N

@sﬁ”*

_

5

~7 \
The (di'[fﬂrenti in the number u[@fu;le/‘
workforce in SA and MA sectors put together |
and the number of female workforce in PT
sector is :

H U 7 un v g °§ s vigen sdae a6t
HH e I W f e W @ trﬁ;m
mﬁaﬂ#@rmmmi‘?

(a) 5.1 lakhs/5.1 @@ (b) 7.5 lakhs /7.5 =@
(c) 5.7 lakhs /5.7 @@  (d) 13.2 lakhs/13.2 =@

\/_\/Vj’ﬁ
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Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:E)
Service (SE) 15% 3{2)
Sales (SA) \/ 12% 513
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% 817
Management (MAJV| 21% F3:4 )
Production and | 19% 5:3
Transport (PT) V e
Others (OT) 6% 3:

The difference in the number of female
workforce in SA and MA sectors put together |
and the number of female workforce in PT

sector is :
qnqaﬂ'{qnqﬁa’iﬁmd@lﬂaaaﬁ
T HEE I 0 g W st Afgen
HAae Sl WA T 3ia feRa=m £7

(a) 5.1 lakhs/5.1 @@ (b) 7.5 lakhs /7.5 =@
(c) 5.7 lakhs /5.7 (d) 13.2 lakhs/13.2 ©id

Ans. (b) : TH T Ag21 § Afeena &l S

=% x%x 000000 = 360000
TH U da=t # Afecret & S

_ %x%x 000000 = 960000 7,
YT daet O Afgened & d@em

- % - % < 8000000 = 570000  ——0-o/
FHAE 3T (360000 + 960000) — 570000

=132 —5T70000 = 750000




Direction

: (Q.N. 1-5) : Consider the following

table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% 322
Sales (SA) [ 12% 513
Construction and |[9% 5:4
Maintenance (M)
Professional (PR) | 18% — (| 5:7
Management (MA) | 21% J: 4
Production and | 19% 5:3
Transport (PT)
Others (OT) 6% q: )

5.  What is thf the number of female
workforce in CM Jsector compared to the

number of male workforce in PR and OT
sectors put together? -

@ o wEe uigen wEed s 6
R dt W uwd ot & @A H @R uww

T T FHOT TEAT W AU I §?
(a) 17:39 (b) 16'3?
(c) 1635 (d) 1

@("@/Y@’T
mp/

PN —



Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors

during a gi ar. | workforce in all the sectors
put togethelis 80 lakhs. Based on the data contained

in the table, answer the question :
Sector-wise Distribution of Workforce of India

What is the ratio of the number of female
workforce in CM sector compared to the
number of male workforce in PR and OT
sectors put together?

ot W & W wEd "igen wEed @t @En
3t W uwd ot & @ W oww yEw

FIHEA @ FA HEAT FH AU AT 57

(a) 17:39 (b) 1637

(c) 16:35 (d) 16:39
Ans. (d) :

@t un "Hee § Fo wfeensit St d@en

Employment Workforce of India
Sector }
’J/ Percentage Ratio of
(L (%) Male  of
Distribution Female
(M:F)
Service (SE) 15% 322
Sales (SA) 12% - B
Construction and | 9% 544
Maintenance (M) N Q
Professional (PR) 18% 37
Management (MA) | 21% J: 4
Production and | 19% 5:3
Transport (PT) ]
Others (OT) 6% @ 5

(8000000)= 320000
(7 v

= =% 8000000 = 600000 )
=

;A A daTT

=% 28000000 = 180000
100 8 =
Al A T f AW & FA TEE =ﬁﬂﬂﬂﬂﬂﬂ70ﬂﬂﬂ
= 780000

AT 3T = 320066 7866007
=16:39 _,
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e, : i R | What is the ratio of the number of PCs sold of
Direction (Q.N. 6-10) Consider the following Company DELL during July to those sold

tihle that shu;v; the perg&ntﬂge (%) l:léstrihntinn of during December of the same company?

the number of Personal Computers (PCs) sold by a W fraar

dealer from July to December-2019 and ratio between @Nﬁ' ﬁiﬁ :;T ~Eﬂ_3ﬂ1: mg?ﬁ
the number of PCs sold of HP and DELL companies Fl hl HEAT uT :
during the same six months. Total number afRCs / (a) 119 : 145 (b) 116: 135

sold in all these six months put together (c) 119: 135 (d) 119:130

Based on the data contained in the table, answertife - s -

question
Month-wise Disteibution of Sale of PCs (El ( /‘ -
7

on Sale of PCs ) v
o ZE:‘EE:l:i{g:t Ratio_of I‘I\;\ L\\u/ﬁs_o 7’\\/1/,(\3 \'b
0\

~

Distribution D A ~
July 7 — | 17% 8{7
//t August 22% 4:5 \_A‘ko/ ﬂSD\K’y 7‘\@
//SEptember 25% 3:2 )VKD
| October 8% 7:5
~| November !1% , 7:‘3

December A 16% J T@




[hrectmn (Q.N. ﬁ 10) Consider the following
table that shows the percentage (%) distribution of
the number of Personal Computers (PCs) sold by a
dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL mmpumes
durmg the same six months. Total num
sold in all these six months put tngeth is 450[“]

Based on the data contained in the table, amswerth

\(9) 119 : 135

What 1s the ratio of the number of PCs sold of

Company DELL during July to those sold

ing December of the same company?
iﬁ:‘ybﬂﬁi% g Jons 3w faman # a=
HITUTERT St AT ST ITUTE AT &7

(a) 119 : 145 (b) 116 : 135

(d) 119:130

/Ans (c} DELLM%mWﬁ%ﬁnﬁwﬁ

question w
Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage | Ratig,ofJIP
o0 | DL
Distribution ;
C@ |17 F (8
August 22% 4:5
September 25% 3:2
October 8% 7:5
November 12% , 7:8
December 6% v |19 /

Tl 219 —_

15 100 1500
DELL &/t & 30 femmr § 59 74 dwuesi &t d@wem
9 16 9
“16 100 100
DELL 0t & g/ qes i fammn § &= 7 dworat

4 119 9 119
W HEH & I = : = =119:135
1500 100 135 L l

o faweT (¢) 59 2
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Direction (Q.N. 6-10) Consider the following If 35% of the PCs sold by Company HP during

table that shows the percentage (%) distribution of November were sold at a discount, then how
the number of Personal Computers {PCslllsnId by a many PCs of (_‘nmpan}r HP during that month
dealer from July to December-2019 and ratio between were sold without a discount?

I8¢ Al 0F ELE 10K 0115 S, DELL cotpgnie I Jatat § HP &t & 35% fasft g

during the same six months. Total number of PCs

sold in all these six months put together is 45000. BT W | T A 3dt wdT ° HP At &
Based on the data contained in the table, answer the 'ﬁz—ﬂﬁ P e 'QE % '&ﬁ’ ‘"{7

question

Month-wise Distribution of Sale of PCs // (a) 882 (b) 1635

Month Sale of PCs = (c) 1638 (d) 885
Fz'}centage ::‘.]all:::ﬂf HP /I
Distribution

July 17% 8:7

August 22% 4:5

September 25% L

October 8% Tin

November 12% 7:8

December 16% 79




N T

[}lrtctmn (Q.N. 'ﬁ 10) Consider the following

table that shows the percentage (%) distribution of
the number of Personal Computers (PCs) sold by a
dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL mmpumes

sold in all these six months put together fs 45000
Based on the data contained in the table, an¥wr

durmg the same six months. Total number ¢ ii

If 35% of the PCs sold by Company HP during
November were sold at a discount, then how
many PCs of Company HP during that month
were sold without a discount?

I A=l § HP Tt 26 3 5%/ Forst g

§e W A O oA It HP &t &
feramr fafr dmores famm g2 & o= mo?

question
Month-wise Dhstribution of Sale of PCs
Month Sale of PCs
Percentage Ratio off HP
(%a) to DELL
Distribution
July 17% 8:7
August 22% 4:5
September 25% L
{}rtnhg‘,_\ 8% Tin
( November [ 12% @3
N
December 16% 79

(a) 882 (b) 1635
(c) 1638 (d) 885
Ans{t) rlraﬁmw#rﬁpamﬁ%nﬁgﬁ

lxzmsnnn %\?/7‘
_34 % 30 :{EEJE j

35%waﬂ‘mﬁaﬁﬁam%ﬂmﬁ$,§zmﬁé

oAa: faed (c) 99 21
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Direction (Q.N. 6-10) Consider the following
table that shows the percentage (%) distribution of
the number of Personal Computers (PCs) sold by a
dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies
during the same six months. Total number of PCs
sold in all these six months put together is 45000,
Based on the data contained in the table, answer the

If the dealer earned a profit of 433 on each PC
sold of Company DELL during October, then
what was his total profit earned on the PCs of
that company during the same month?

3 FEaT & U DELL ot & fashar
T uEE et 9ot Ov T433 & AT uTe
forgr &t 39 wdtA o fagar =t feraar &y
firen?

question
Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage Ratio of HP
(%a) to DELL
Distribution
July 17% 8:7
August 22% 4:5
September 25% 3:2
October 8% 7:5
November 12% 7:8
December 16% 79

(a) T 6,49,900 (b) T 6,45.900
(c) T 6,49.400 (d) T 6,49,500
/
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Direction (Q.N. ﬁ 10) Consider the following
table that shows the percentage (%) distribution of
the number of Personal Computers (PCs) sold by a
dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies

during the same six months. Total numberof €3
sold in all these six months put together(is 45000,
Based on the data contained in the table, answer the

question
Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage Ratio of HP
(%a) to DELL
Distribution
July 17% 8:7
August 22% 4:5
September 25% 3:2
< Octoh 8% ) 7( 7:5
November 12% 7:8
December 16% 79

If the dealer earned a profit of ¥433 on each PC
sold of Company DELL during October, then
what was his total profit earned on the PCs of
that company during the same month?

= &;mnnE ot & fagear

fr wures w(T433 )T W wre
ﬁ‘:ﬂm mnﬁﬁﬂﬁﬁaﬁmm
firen?

(a) < 6,49,900 (b) ¥ 6,45,900
(c) ¥6,49,400 (d) T 6,49,500
L ) - b1 E—

DELL FT- T/ a9 o
8

Ans. (d) :

TR A HE =:£‘ — % 45000 = 1500

FYAHR,

fershel Sreh HTUTE TT T433 & 9 g Al g A
= 1500 = 433 = 649500

o e @y @@ @l
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D:rectmn (Q.N. 6 10) Consider the following
table that shows the percentage (%) distribution of
the number of Personal Computers (PCs) sold by a
dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL mmpumes
durmg the same six months. Total num T§
sold in all these six months put togeth
Based on the data contained in the table, sy

question
Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage Ratio of HP
(%) to DELL
Distribution —_—
July __ 17% 8:7

7_ 2% Y~ 4:D
( September | 25% )X | 3:22
~Ovter— | 8% 7:5
November 12% 7:8
December 16% 9

What is the total number of PCs sold by
Company DELL during August and September
together?

3T wa foera @A WAt # DELL &t &
I e 0 et fovft wiureRt @t e @ 7
(a) 10000 (b) 15000
(c) 10500 (d) 9500

To% 7 =
Easy Notes 4u I —
Online Study ‘:Y 6




Direction (Q.N. 6-10) Consider the following
table that shows the percentage (%) distribution of
the number of Personal Computers (PCs) sold by a
dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies
during the same six months. Total number of PCs
sold in all these six months put together is 45000,
Based on the data contained in the table, answer the

What is the total number of PCs sold by
Company DELL during August and September
together?

3T wa foera @A WAt # DELL &t &
I e 0 et fovft wiureRt @t e @ 7
(a) 10000 (b) 15000
(c) 10500 (d) 9500

Ans. (a) : 37T UF foawr 3ET 7841 § DELL &% &
3 a9 ™ Fo s @t @i den

. [Exéx%{}t}{l] +{£ e 450:10]
100 9 ——| (100 5 —

= 35500 + 4500 = 10000
0 faFeT (a) T 81

question
Month-wise Dhstribution of Sale of PCs
Month Sale of PCs
Percentage Ratio of HP
(%) to DELL
Distribution ——
July 17% 8:7
w 22% 4:5
September Y| 25% 3:2
October 8% 7:5
November 12% 7:8
December 16% 79

vV
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Direction (Q.N. ﬁ 10) Consider the following

). The number of PCs sold of Company HP
during July is approximately what percent (%)

table that shows the percentage (%) distribution of of the number of PCs sold of Company HP
the number of Personal Computers (PCs) sold by a durine December?

dealer from July to December-2019 and ratio between gﬂ; WA HP ST & R aer T e
the number of PCs sold of HP and DELL 'HI'IIIFHIIIEE wa.ﬁ' i 9T ﬁg‘m? =+ 'q-lﬂﬁ' o HP FHort
durmg the same six months. Total num °S * g A T st TR & T @ R
sold in all these six months put togethe g 2

Based on the data contained in the table, answer tlm ]

question (a) 110% (b) 140%

MMonth-wise Thsiribution of Sale of PCs (c) 150% (d) 130%

Month Sale of PCs L

Percentage Ratio of HP % \/

(%a) to DELL

Distribution
July 17% 8:7
August 22% 4:5
September 25% 3:2 w8 = :
October 8% 7:5 E;sy Notes 4u I |

Online Study &
November 12% 7:8 (%
N

December 16% 7:9 ==
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Dlrtctmn (Q.N. ﬁ 10) Consider the following
table that shows the percentage (%) distribution of
the number of Personal Computers (PCs) sold by a
dealer from July to December-2019 and ratio between
the number of PCs sold of HP and DELL companies
during the same six months. Total number of PCs
sold in all these six months put together is 45000.
Based on the data contained in the table, answer the

question
Month-wise Distribution of Sale of PCs
Month Sale of PCs
Percentage Ratio of HP |
(%a) to DELL —
, Distribution X
July 17% 8:7_)
August 22% 4:5
September 25% 3:2
October 8% 7:5
November 12% 7:8
L >4
December \f 16% v~ [ 7:9

)

The number of PCs sold of Company HP
during July is approximately what percent (%)
of the number of PCs sold of Company HP
durmg%ﬂecemher"

WA § HP et & gRT s o frsh
mmaﬁaﬁﬁwﬁwmaﬂﬁﬁ HP et
& I &=t o At et @t e W e
yferyra &2

(2) 110% %
(c) 150% (d) 1309

Anm{d)-ﬁﬁ#mﬁﬁﬂpmﬁmﬁ%nﬁmaﬁ
17

e = [ﬁx —‘:{/Mﬂ] 4080

femmay 9 d HP F90-1 g0 59 74 g & dE

=[£xl}¢45ﬂﬂﬂ] 3150
100 16

4080

ATy = H}i}— 129.5 = 130%
3150 T

a: Tﬁaﬁq(d]wéﬂ




The following table embodies the details about the TS dmetshl |9 2020-21 & SR 19T § 9= 1[G
enrollment of students in five different activities framamdt Ama: duEt, e, fEed, 99 i e
namely Swimming, Singing. Drawing, Dancmg and ¥ faafdai S—mmiwg &t =uid ) _LGogem & fafe
Handicraft in during the session 2036-21. A IERIETR I ﬁ AT wfea ﬁvf ferenfefai =
total number pf 3000 Jstudents includin !‘mi Is EICIET g _‘bi| aifer=hT O 9=49 3113‘}_5;} HMEE YL 994 9
have been enrolled In various activities in théSchool. 1-5 ¥ =ox &
Based on the data in the table, answer the questions = TS —
1-5: -
Activity-wise Enrollment of Students frarweTa | AmifRe frenfdai ArwifeRT
Activity | Percentage (%) of | Percentage (%) =T wier ”f (“o) STIATAT T
students enrolled | of Girls enrolled (3000 o ) wierTe 'l‘:%}
(Out of 3000) (Out of 1750) //' (1750 & W)
Swimming 16% 14% RG] / 16% 14% ¥V
Singing 21% 28% M= 21% 28% ~/
Drawing 14% 16% s 149 16% o’
Dancing 24% 20% I 249 20% //
Handicraft _ 25% 22% — 259 270, 7

The number of girls enrolled in Dancing forms \\ /
what percent (%) of the total number of

students in the School? (Round-off to two
digits)?

I H AHiIfRa BrETe @t d@er famnmea
feramfart it et A @ e wfter (%) & _—
(212 aiwi # guifer &= 1v)? v
(a) 9.32% (b) 10.67%
(c) 11.67% (d) 14.67%




The following table embodies the details about the
enrollment of students in five different activities
namely Swimming, Singing. Drawing, Dancing and
Handicraft in a School during the session 2020-21. A
total number of 3000 students including 1750 girls
have been enrolled in various activities in the school.
Based on the data in the table, answer the questions
1-5:
Activity-wise Enrollment of Students

Activity | Percentage (%) of | Percentage (%)
students enrolled | of Girls enrolled
(Out of 3000) (Out of 1750)

Swimming 16% 14%
Singing 21% 28%
Drawing 14% 16%
Dancing 24% 20%
Handicraft 25% 22%

— e

The number of girls enrolled in Dancing forms
what percent (%) of the total number of
students in the School? (Round-off to two
digits)?

I H AHiIfRa BrETe @t d@er famnmea
ferenfafat = Sor wear = foRaar gl (%) &
(Ze1E aimi o guifer &= wv)?

(a) 9.32% (b) 10.67%

(c) 11.67% (d) 14.67%

TR dieishl |99 2020-21 & SR09 92erd ° 91 19

:rmiaﬂgan%mﬁﬁﬁﬁm%mmﬁ
1-5 & I =
ferenfifat a1 fimaTaemoa ImmiET

feramerema | AmAifeRT faenfei= araifeRa
=T UraeTa (%) BT T /
(3000 H %) Ut (%)
(1750 & ®)
GLCT) 16% 1 4%
=T 21% 28%
lEE L 14% 16%
Fu @ — 24% 20% )
geTey 25% 22%

[

Ans. (¢) : 79 d AHifea SEE & 9@ = Bl

— 100
350 v~
ferarera o e feanfefat =t @& = 3000

e = 350 x100=11.67%
3000




The following table embodies the details about the | r==m=Fa am<=m 99 2020-21 & IO =g § 9= =00
enrollment of students in five different activities| frarreadl ama: JFw=Ht, ==, fEEd, T 3R @y
namely Swimming, Singing. Drawing, Dancing and | # fayqfsf=si & ami=a =0 =oidt &1 fFaes § f&ane
Handicraft in a School during the session 2020-21. A | froamargt & 1750 =ETst ofed F 3000 faenfefi =
total number of 3000 students including 1750 girls | 0 gam &1 Ao § Se 3Te ¥ SR W WY o
have been enrolled in various activities in the school. | _ _ & . =
?-:;s:ed on the data in the table, answer the guestions f fili¥ e B a
Activity-wise Enrollment of Students frareema | Amifera faarfe Armitera
Activity Percentage (%) of | Percentage (%) a1 W (%) TTATT T
students enrolled | of Girls enrolled (3000 7 ) wergra (Vo)
(Out of 3000) (Out of 1750) (1750 5 H)
Swimming 16% 14% GEAC ) 16% 1 4%
Singing 21% 28% = 21% 28%
Drawing 1 4% 16% I ECALA 14% 16%
Dancing 24% 20% I 24% 20%
Handicraft 25% 22% et 25%, 229,

— e

What is the approximate percentage (%) of
boys in the school?

faramera o ot @t wiEe fwe (%) §:
(a) 42% (b) 28%
(c) 34% (d) 50%




The following table embodies the details about the | r==Fa Tm<=m 99 2020-21 = IEH =HUAG H 99 &G0
enrollment of students in five different activities | fFEa=eTdt T o=, Taa, FE=rT, T4 it gmmfyr=
namely Swimming, Singing. Drawing, Dancing and | # fayqfsf=si & ami=a =0 =oidt &1 fFaes § f&ane
Handicraft in a School during the session 2020-21. A | froamargt & 1750 =ETst ofed F 3000 faenfefi =
total number of 3000 students including 1750 girls | _ . gam &1 Ao § Se 3Te ¥ SR W WY o
have been enrolled in various activities in the school. | _ _ o — 5
?-:;s:ed on the data in the table, answer the questions f fili¥ e B a g\r@
Activity-wise Enrollment of Students ferareReTa | AmifeRs frenfedar Arifer 1 So
Activity Percentage (%) of | Percentage (%) a1 W (%) TTATT T ‘o
students enrolled | of Girls enrolled {3{“}'}‘.& ﬁj_ m‘: \‘2.\\!
(Out of 3000) (Out of 1750) {zs0 ¥ @)
Swimming 16% 14% Tt 16% 4% ———
Singing 21% 28% = 21% 28%
Drawing 1 4% 16% I ECALA 14% 16%
Dancing 24% 20% I 24% 20%
Handicraft 25% 22% ZrafeT=g 259 2204
Zz
What is the approximate percentage (%) of \/k(ns, (a) : \
boys in the school? - 1250-1750
bt . GEEE I T GAG = x100
faemera o oAt @ Wit wfawr (%) & 3000
(a) 42% (b) 28% =41.667%
(c) 34% (d) 50% =42% _~




The following table embodies the details about the
enrollment of students in five different activities
namely Swimming, Singing. Drawing, Dancing and
Handicraft in a School during the session 2020-21. A
total number of 3000 students including 1750 girls
have been enrolled in various activities in the school.
Based on the data in the table, answer the gquestions
1-5:

TEMSRd afelshl 99 2020-21 & T 99T | 91 &9
feraserdt T duEt, TEe, e, g i e
# faenfefat & amiswa =0 =il 2 e § fafe
framredt o 1750 =t w@fea F& 3000 FEEnfda =
ATAIEA g3 2| wiferR § Wem e & R W wye o
1-5 & 3L =

farenfadat = feramanemoaT i

Activity-wise Enrollment of Students frareema | Amifera faarfe Armitera

Activity Percentage (%) of | Percentage (%) a1 W (%) TTATT T

students enrolled of Girls enrolled (3000 T ) wierwT (%)

(Out of 3000) (Out of 1750) (1750 5 H)
Swimming 16% 14% ATt 16% 1 4%
Singing 21% 28% = 21% 28%
Drawing 14% 16% e 14% 16%
Dancing 24% 20% I 24% 20%
Handicraft 25% 22% F s dlar) 2594 22%%

— e

How many boys are enrolled in Singing and
Handicraft taken together?

e 3R gfien § Wy wv R fEeR o
Amwifea §7

(a) 485 (b) 505

(c) 420 (d) 585




The following table embodies the details about the
enrollment of students in five different activities
namely Swimming, Singing. Drawing, Dancing and
Handicraft in a School-during the session 2020-21. A
total number 'W udents including 1750 girls
have been enrolled 1n various activities in the school.
Based on the data in the table, answer the gquestions
1-5:
Activity-wise Enrollment of Students

Activity Percentage (%) of | Percentage (%)
students enrolled of Girls enrolled
(Out of 3000) \ | (Out of 1750)

Swimming 16% 14%

- a1 _f i i
Singing 21% 28% g_
Drawing 14% 16%
Dancing ) 24%  J 20%
Handicraft \}”/ 25% < 22% ¢~ |

i L -

How many boys are enrolled in Singing and
Handicraft taken together?

e 3R gfien § Wy wv R fEeR o

rifea §7
(a) 485 cmgs
(c) 420 (d) 585

Ans. (b) : fomeg # g fomffal § TR 2q AwifEd

P # = €30

T 3 A g @ g  1750%38

100
Can)
mﬁmmaﬂHmww-me 140 |

mﬁmﬁqmiﬁﬁgﬂﬁmﬂ:mﬁszsﬂso

mﬁmﬁmmaﬁmﬂs“:};”:sss
e i e 9 4 e = 750385 €365 )
MR 741 T A § GO €9 @ AMifed on @i
=365+ 10FS0s Ty




The following table embodies the details about the
enrollment of students in five different activities
namely Swimming, Singing. Drawing, Dancing and
Handicraft in a School during the session 2020-21. A
total number of 3000 students including 1750 girls
have been enrolled in various activities in the school.
Based on the data in the table, answer the gquestions
1-5:

TEMSRd afelshl 99 2020-21 & T 99T | 91 &9
feraserdt T duEt, TEe, e, g i e
# foenfdat & amisa St =i @1 e & fafe
framredt o 1750 =t w@fea F& 3000 FEEnfda =
ATAIEA g3 2| wiferR § Wem e & R W wye o
1-5 & 3L =

farenfadat = feramanemoaT i

Activity-wise Enrollment of Students frareema | Amifera faarfe Armitera

Activity Percentage (%) of | Percentage (%) =k 'Rﬁﬂﬂ?' (Vo) TTATT T

students enrolled of Girls enrolled (3000 T ) wierwT (%)

(Out of 3000) (Out of 1750) (1750 5 H)
Swimming 16% 14% ATt 16% 1 4%
Singing 21% 28% = 21% 28%
Drawing 14% 16% e 14% 16%
Dancing 24% 20% I 2494 20%
Handicraft 25% 22%, =rfeTeg 2500 2200

— e

What is the total number of girls enrolled in \\_;\

Swimming and Drawing taken together?

Fa i femardt § dgw w0 A @ e —

BIATST T TTHIRT &7
(a) 505 (b) 515
(c) 525 (d) 535




The following table embodies the details about the | =T ams=v I3 2020-21 & TEE =HT=T T 99 &G0
enrollment of students in five different activities| frarreadl ama: JFw=Ht, ==, fEEd, T 3R @y
namely Swimming, Singing. Drawing, Dancing and | # fayqfsf=si & ami=a =0 =oidt &1 fFaes § f&ane
Handicraft in a School dllring the session 2020-21. A mﬁ ﬂ- 1750 m@;ﬁ Eﬁ-ﬁ ﬁ 3000 w =F
total number of 3000 students including 1750 girls | 0 gam &1 Ao § Se 3Te ¥ SR W WY o
have been enrolled in various activities in the school. | _ _ & . =
?;s:ed on the data in the table, answer the questions f fili¥ e B - :
Activity-wise Enrollment of Students frareema | Amifera faarfe
Activity Percentage (%) of | Percentage (%) L ] 'Sl‘ﬁ-l?l?! (%)
students enrolled of Girls enrolled (3000 T )
(Out of 3000) (Out of 1750)
Swimming 16% 14% TRt 16%
Singing 21% 28% = 21%
Drawing 14% 16% I ECALA 14%
Dancing 24% 20% I 2494
Handicraft 25% 22%, =rfeTeg 2500

— e

What is the total number of girls enrolled in  [Ans. (c) : ! qun FEEl 7§ dgw w9 ¥ 3o o &

Swimming and Drawing taken together? AT ~~— g
et of fosremrdt o dgw wU W e fEa 175004416

BTATST &1 ATHIER &7 100 ./J:
(a) 505 (b) 515
(c) 525 (d) 535

1750
= X
100

3




The following table embodies the details about the
enrollment of students in five different activities
namely Swimming, Singing. Drawing, Dancing and
Handicraft in a School during the session 2020-21. A
total number of 3000 students including 1750 girls
have been enrolled in various activities in the school.
Based on the data in the table, answer the gquestions
1-5:

TITehd dTershl |9 2020-21 = IO =EEUEg | 9 =
feraserdt T duEt, TEe, e, g i e
¥ fanfdai & amiwa &0 == @)
fraredt o 1750 = w@fea &
ATAIEA g3 2| wiferR § Wem e & R W wye o
1-5 & I =

e # fafin
3000 frenfedai =

faenfad=r == fSeaTaeaaT ITHisR

Activity-wise Enrollment of Students frareema | Amifera faarfe Armitera

Activity Percentage (%) of | Percentage (%) a1 W (%) TTATT T

students enrolled of Girls enrolled (3000 T ) wierwT (%)

(Out of 3000) (Out of 1750) (1750 5 H)
Swimming 16% 14% ATt 16% 1 4%
Singing 21% 28% = 21% 28%
Drawing 14% 16% e 14% 16%
Dancing 24% 20% I 24% 20%
Handicraft 25% 22% F s dlar) 25%, 22%%

— e

What is the ratio of the number of girls
enrolled in Swimming to the number of boys
enrolled in Swimming?

Mﬁmmmmﬁmmﬁm
w2

(a) 59:49
(c) 33 :43

(b) 23 :29
(d) 49 : 47
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The following table embodies the details about the | r==m=Fa am<=m 99 2020-21 & IO =g § 9= =00
enrollment of students in five different activities| frarreadl ama: JFw=Ht, ==, fEEd, T 3R @y
namely Swimming, Singing. Drawing, Dancing and | # faygfsfsi & ami=a = =oidt &1 Beem § fane
Handicraft in a School during the session 2020-21. A | froamargt & 1750 =ETst ofed Fa = -
total number of 3000 students including 1750 girls | 0 g # L gifera § s=a aTse T wua o
have been enrolled in various activities in the school. :
Based on the data in the table, answer the gquestions- :
1-5: zJ' ATHTSR
Activity-wise Enrollment of Students - Armitera
Activity Percentage (%) of | Percentage (%) =k 'Rﬁﬂﬂ?' (Vo) TTATT T
students enrolled | of Girls enrolled (3000 7 ) wieroTa (Vo)
(Out of 3000) (Out of 1750) — (1750 5 W)
Swimming 16% 14% Qﬁ?[ﬂﬁ) L lﬁ?fy Qﬁl%
Singing 21% 28% A 21% 28%
Drawing 14% 16% I ECTLA] 14%% 1 6%
Dancing 24% 20% I 2494 20%
Handicraft 25% 22% F s dlar) 25%, 22%%
What is the ratio of the number of girls [Ans-(d):
enrolled in Swimming to the number of boys |fw=d # amifss o faaff & den = 3“‘:3;1'5':

enrolled in Swimming?

ﬂnaﬁﬁwmmaﬁammﬁma@rm
Fg?

(a) 59:49
(c) 33 :43

(b) 23 :29
(d) 49 : 47

(laso)

ﬂwﬁﬂmﬁm@mﬁaﬁm—”m””—mﬁ

mﬁﬁm&ﬁaﬁm 480 — 245 = 235

= 49 : 47
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